
ASSEMBLY MANUAL

A

M5x6 (2)

B C D

M5x8 (4) M5x10 (4) M5x12 (4)

E

Poster Frame (1)

D

x4

Tighten the front 
and the rear screws 

(Screws are already inside)

ASSEMBLE BASE & POLE

A

x2

Peel off the protective
layer from the adhesive

Magnetic opening upwards

E

B

x4

Tighten to lock 
orientation

MOUNT POSTER AND TABLET



ADD CHARGE CABLE AND PLACE TABLET

LOCK UNLOCK

To remove the key when unlocking, turn back to entry position.
(The key can not be removed in other positions)

LOCK TABLET IN PLACE

Push to lock

For further assistance on how to set up and use the donation box please visit support.churchdesk.com

https://support.churchdesk.com/en/
https://support.churchdesk.com/en/

	页 1
	页 2

